Match the amounts of money in symbols in Column B. Drag the correct answer.

Sixty-two pesos and ten centavos
Sixty-three pesos and ten centavos

One hundred twenty-three pesos and ninety-
nine centavos

Five hundred pesos and sixty centavos

Nineteen pesos and twenty-five centavos

Choose the correct answer.
Seventeen pesos and 13 centavos
™ 17.30 P 1730

One hundred twenty one pesos and six centavos

B 12160 P 121.16
Twenty five pesos only

P 2500 P 250
Sixty seven pesos and twelve centavos

P 67.20 P 67.21
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£ 5006

P 1925

P 6210

P 6310

P 12319
£ 7030
121.06
20.50

P 67.12



